TET 2
REZOLVARE St BAREM IE NOTARE

- [{e(35~20)]: 2% (16-15): [3. (1+2)+ 2= CQ

= La+sliexa:fq, 3 2| = Gp
= 632 x4 (1+2) 2 Q)
\"—1 SKRANB = . _ _ _ P
L. 5+3xl\35~2x{4>w1—~(~+ G;ﬂﬁai:S‘*//‘f
_ 9 ﬁ-a_s‘ 2% Chxa- i]+z73 5=9  (ep

2x 1 35-2x L4xa-t |42] =45

35~ 2x (4xa~1 L +2= 4€
C B3S-ax (hxa~t) T A3
Ax [hxa~1)=22

Axa=4= {4

hxa= (2 '
~ ¥ a BER . o o B RS

3 —y 1 %
- — T 1 pr
— L P NP
- ) - - -'/OP“
44 -k =45 |
bG: 5= 9 @Douu i T A - i_@

‘@)(2_"‘/8 /bga')bu AL R 2; .,
Sty = A2 peplw MR 'QB;

— e c— o—



—

L T e mme . msr e e

Fe G - WM AU &,
G~ al Loty sumsen
c ~ ol Twiba wawa

E I R N
C= A%6 +6

ra+6-S%xa -5 =30,
A+ | = 30
A= 30~ 4 :%ag

= S — — -

h = 29%5+ &
=150

C 2 A9KRE + 4
C= 4£0

g = ot — —
—— —
—



